# Meet Results By Division Boys

### 100 M Dash

Place	Contestant	School	Time	
1st	Holthaus, D	Nemaha Valley	11.78	
2nd	Turner, D	Centralia	12.06	
3rd	Mars, T	Centralia	12.66	
4th	Haufler, H	Centralia	12.88	
5th	Baker	Jackson Hts	13.28	
6th	Price, T	Nemaha Valley	13.41	

### 1600 M Run

Place	Contestant	School	Time
1st	Swart, K	Nemaha Valley	5:07.26
2nd	Thomas	Jackson Hts	5:28.59
3rd	Holliday	Jackson Hts	5:30.02
4th	Huddleston, K	Frankfort	5:30.86
5th	Frazer, M	Centralia	5:38.14
6th	Beck, A	Centralia	6:01.22

### 200 M Dash

Place	Contestant	School	Time
1st	Holthaus, D	Nemaha Valley	24.20
2nd	Turner, D	Centralia	24.45
3rd	Holthaus, N	Nemaha Valley	25.28
4th	Russo	Centralia	26.76
5th	Price, T	Nemaha Valley	27.60
6th	Tomlinson, J	Holton	28.41

### 3200 M Run

Place	Contestant	School	Time
1st	Sperfslage, M	Nemaha Valley	11:28.75
2nd	Frazer, M	Centralia	12:29.67
3rd	Roberts, B	Frankfort	12:36.45
4th	Oller, A	Nemaha Valley	16:16.56

### 400 M Dash

Place	Contestant	School	Time
1st	Holthaus, N	Nemaha Valley	55.65
2nd	Elder, A	Nemaha Valley	57.27
3rd	Roeder, A	Frankfort	57.77
4th	Haufler, H	Centralia	1:00.65
5th	Tomlinson, J	Holton	1:02.30
6th	Rose	Frankfort	1:03.47

### 4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Holthaus, D Henry, D Holthaus, N Boeckman, B	Nemaha Valley	47.84
2nd	Russo Mars, T Ferron Turner, D	Centralia	49.63
3rd	RC#1 RC#2 RC#3 RC#4	Rock Creek	51.13
4th	Fr#1 Fr#2 Fr#3 Fr#4	Frankfort	54.49
5th	JH#1 JH#2 JH#3 JH#4	Jackson Hts	56.21

### 800 M Run

Place	Contestant	School	Time
1st	Lierz, C	Nemaha Valley	2:14.84
2nd	Thomas	Jackson Hts	2:31.73
3rd	Beck, A	Centralia	2:38.29
4th	Holliday	Jackson Hts	2:41.47
5th	Ruetti	Frankfort	2:42.54
6th	Goforth	Onaga	2:48.15

## Meet Results By Division Boys (Continued...)

### 4 x 400 (1600 M) Relay

4 X 400 (1000 W) Relay			
Place	Contestants	School	Time
1st	Boeckman, B Lierz, C Price, T Holthaus, N	Nemaha Valley	4:02.71
2nd	Fr#5 Fr#6 Fr#7 Fr#8	Frankfort	4:14.34
3rd	RC#5 RC#6 RC#7 RC#8	Rock Creek	4:24.23
4th	Bliss Ames Goforth Chestnut	Onaga	4:27.85
5th	JH#5 JH#6 JH#7 JH#8	Jackson Hts	4:50.40

### 4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Swart, K Sperfslage, M Lierz, C Henry, D	Nemaha Valley	9:31.11
2nd	Fr#9 Fr#10 Fr#11 Fr#12	Frankfort	9:58.64
3rd	Durland, J Koelzer, G Haufler, H Frazer, M	Centralia	10:23.55
4th	RC#9 RC#10 RC#11 RC#12	Rock Creek	11:13.05
5th	JH#9 JH#10 JH#11 JH#12	Jackson Hts	11:37.36

### 110 M Hurdles

Place	Contestant	School	Time
1st	Bradley, Z	Nemaha Valley	17.20
2nd	Studer, J	Frankfort	21.37
3rd	Kennedy	Frankfort	21.86
4th	Studer, B	Frankfort	23.39

### 300 M Hurdles

Place	Contestant	School	Time
1st	Bradley, Z	Nemaha Valley	45.35
2nd	Studer, J	Frankfort	52.33
3rd	Kennedy	Frankfort	52.37
4th	Studer, B	Frankfort	52.71
5th	Huddleston, K	Frankfort	54.28

### Long Jump

Place	Contestant	School	Distance
1st	Basa	Rock Creek	18'-2"
2nd	Holthaus, D	Nemaha Valley	17'-6"
3rd	Elder, A	Nemaha Valley	17'-1 1/4"
4th	Chestnut	Onaga	16'-0"
5th	Russo	Centralia	15'-8 1/2"
6th	Tomlinson, J	Holton	15'-5"

### Shot Put

Place	Contestant	School	Distance
1st	Riederer, J	Holton	41'-2 1/4"
2nd	Feldkamp, S	Nemaha Valley	40'-10"
3rd	Falconer, M	Holton	40'-3 1/4"
4th	Ferron	Centralia	38'-11 1/2"
5th	Vaughn	Frankfort	37'-11 1/2"
6th	Beightal, D	Holton	37'-2"

### Discus

Place	Contestant	School	Distance
1st	Ferron	Centralia	114'-3"
2nd	Hermesch, E	Nemaha Valley	107'-3"
3rd	Mars, T	Centralia	105'-10"
4th	Amon, Adam	Jackson Hts	102'-5"
5th	McClary	Centralia	99'-4"
6th	Oller, A	Nemaha Valley	98'-9"

## Meet Results By Division Boys (Continued...)

### Triple Jump

Place	Contestant	School	Distance
1st	Elder, A	Nemaha Valley	38'-8 1/2"
2nd	Basa	Rock Creek	38'-5"
3rd	Thomas	Jackson Hts	34'-8 3/4"
4th	Sperfslage, M	Nemaha Valley	33'-5"
5th	Koelzer, G	Centralia	27'-6''

### Javelin

Place	Contestant	School	Distance
1st	Bliss	Onaga	141'-6"
2nd	Hermesch, E	Nemaha Valley	136'-7"
3rd	Frazer, M	Centralia	122'-2"
4th	Vaughn	Frankfort	120'-1"
5th	Price, T	Nemaha Valley	117'-0"
6th	Teter	Jackson Hts	109'-10"

### High Jump

Place	Contestant	School	Height
1st	Bradley, Z	Nemaha Valley	5'-6"
2nd	Ahlgren	Jackson Hts	5'-2"
3rd	Studer, J	Frankfort	5'-0"

### Pole Vault

Place	Contestant	School	Height
1st	Henry, D	Nemaha Valley	10'-3"
2nd	Rose	Frankfort	10'-0"
2nd	Beck, A	Centralia	10'-0"
4th	Roberts, B	Frankfort	7'-6"

### Boys

# Points By School

Place	School	Points
1st	Nemaha Valley	206
2nd	Centralia	104
3rd	Frankfort	100
4th	Jackson Hts	53
5th	Rock Creek	34
6th	Holton	21
7th	Onaga	19
8th	Kickapoo	0

Completed Events			
100 M Dash	200 M Dash	400 M Dash	
800 M Run	1600 M Run	3200 M Run	
4 x 100 (400 M) Relay	4 x 400 (1600 M) Relay	4 x 800 (3200 M) Relay	
110 M Hurdles	300 M Hurdles	Long Jump	
Shot Put	Discus	Triple Jump	
Javelin	High Jump	Pole Vault	

	Incomplete Events
ĺ	All events are complete

## OHS Fr. & Soph. Monday, May 7, 2012

# Meet Results By Division Girls

### 100 M Dash

Place	Contestant	School	Time
1st	B. Hundley	Nemaha Valley	13.70
2nd	A. Cook	Holton	13.87
3rd	Lenauer	Rock Creek	14.15
4th	Schwinn	Rock Creek	14.98
5th	Forrester	Rock Creek	15.45

### 200 M Dash

Place	Contestant	School	Time
1st	B. Hundley	Nemaha Valley	29.31
2nd	A. Cook	Holton	29.68
3rd	Lenauer	Rock Creek	29.94
4th	Schwinn	Rock Creek	31.20
5th	M. Nordhus	Nemaha Valley	31.68

### 400 M Dash

Place	Contestant	School	Time
1st	Anderson	Rock Creek	1:07.99
2nd	K. Korpi	Centralia	1:10.23
3rd	J. Swart	Nemaha Valley	1:10.77
4th	Kufahl	Onaga	1:13.65
5th	M. Nordhus	Nemaha Valley	1:14.44

#### 800 M Run

Place	Contestant	School	Time
1st	M. Peterson	Nemaha Valley	2:42.11
2nd	K. McKernan	Nemaha Valley	2:50.15
3rd	H. Jacobs	Holton	3:32.78

### 1600 M Run

Place	Contestant	School	Time
1st	Johnston	Rock Creek	5:59.42
2nd	M. Koch	Centralia	6:35.64
3rd	B. Burdiek	Centralia	6:46.60
4th	Weber	Frankfort	7:30.80
5th	E. McNally	Centralia	7:35.89

### 3200 M Run

Place	Contestant	School	Time
1st	Johnston	Rock Creek	13:01.26
2nd	Weber	Frankfort	16:40.93
3rd	Duitsmann	Frankfort	16:43.60

### 4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	RC#1 RC#2 RC#3 RC#4	Rock Creek	57.72
2nd	A. Kuckelman J. Swart B. Delaney K. McKernan	Nemaha Valley	58.87
√3rd <sup>∞</sup>	A. Grossmann B. Burdiek A. Kohake L. Hasenkamp	Centralia	1:01.28
4th	Fr#1 Fr#2 Fr#3 Fr#4	Frankfort	1:06.35

### 4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	M. Nordhus M. Peterson J. Swart K. McKernan	Nemaha Valley	4:55.17
2nd	L. Hasenkamp B. Burdiek M. Koch K. Korpi	Centralia	5:18.65
3rd	Fr#5 Fr#6 Fr#7 Fr#8	Frankfort 	5:54.33

### 4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	K. Korpi E. McNally B. Burdiek M. Koch	Centralia	13:21.36

# OHS Fr. & Soph. Monday, May 7, 2012

# Meet Results By Division Girls (Continued...)

### 100 M Hurdles

Place	Contestant	School	Time
1st	M. Peterson	Nemaha Valley	18.46
2nd	A. Kuckelman	Nemaha Valley	18.97

### 300 M Hurdles

Place	Contestant	School	Time
1st	A. Kuckelman	Nemaha Valley	54.87

### Long Jump

Place	Contestant	School	Distance
1st	A. Cook	Holton	13'-8"
2nd	B. Hundley	Nemaha Valley	13'-1"
3rd	Lenauer	Rock Creek	12'-11 1/2"
4th	Collins	Rock Creek	12'-10"
5th	M. Nordhus	Nemaha Valley	11'-1"

### Shot Put

Place	Contestant	School	Distance
1st	M. Stallbaumer	Nemaha Valley	31'-7 1/2"
2nd	S. Rhoads	Nemaha Valley	30'-0"
3rd	Brown	Rock Creek	29'-3 3/4"
4th	L. Haverkamp	Nemaha Valley	27'-6 1/4"
5th	M. Henry	Nemaha Valley	24'-11 1/2"

### Discus

Place	Contestant	School	Distance
1st	S. Rhoads	Nemaha Valley	101'-8"
2nd	M. Stallbaumer	Nemaha Valley	94'-4"
3rd	Kufahl	Onaga	88'-0"
4th	Brown	Rock Creek	87'-9"
5th	Rose	Frankfort	84'-10"

### Triple Jump

Place	Contestant	School	Distance
1st	M. Peterson	Nemaha Valley	30'-0 1/2"
2nd	Casper	Onaga	28'-5 1/2"
3rd	Johnston	Rock Creek	28'-0 3/4"

### Javelin

Place	Contestant	School	Distance
1st	S. Stallbaumer	Nemaha Valley	116'-2"
2nd	Joseph	Frankfort	101'-1"
3rd	L. Hasenkamp	Centralia	91'-8"
4th	Rose	Frankfort	83'-5"
5th	L. Haverkamp	Nemaha Valley	81'-6"

### High Jump

Place	Contestant	School	Height
1st	A. Kuckelman	Nemaha Valley	4'-8"
2nd	E. Clark	Holton	4'-0"

### Pole Vault

Place	Contestant	School	Height
1st	J. Swart	Nemaha Valley	8'-0"
2nd	B. Delaney	Nemaha Valley	7'-6"
3rd	A. Grossmann	Centralia	6'-6"
3rd	K. McKernan	Nemaha Valley	6'-6"
3rd	Johnston	Rock Creek	6'-6"

# OHS Fr. & Soph. Monday, May 7, 2012

## Girls

# Points By School

Place	School	Points
1st	Nemaha Valley	151.3333
2nd	Rock Creek	63.3333
3rd	Centralia	41.3333
4th	Holton	30
5th	Frankfort	27
6th	Onaga	12

Completed Events			
100 M Dash	200 M Dash	400 M Dash	
800 M Run	1600 M Run	3200 M Run	
4 x 100 (400 M) Relay	4 x 400 (1600 M) Relay	4 x 800 (3200 M) Relay	
100 M Hurdles	300 M Hurdles	Long Jump	
Shot Put	Discus	Triple Jump	
Javelin	High Jump	Pole Vault	

Incomplete Events		
All events are complete		